
Securing cargo. We invented the concept.

81
03

02
 D

  

Friktionsfäste Stödbanke
Friction Attachment/Friktionsbefestigung

Art.nr 810302



BezeichnungDescriptionBenämningPcsPart.noPos.
GleitplatteSlide plateGlidplatta18102771
SchlossplatteLocking PlateLåsbricka Stödbanke28103062
Klemme untereClamp bottomUnderbygel friktionsfäste justerbar18020103
ScheibeWasherBRICKA BRB M20 FZB22119024
SicherungsmutterLock nutLåsmutter LM6M Hög M20 FZB22118615
SchraubeScrewSKRUV M6S M20x110 FZB22111776
GrundplatteMounting PlateMonteringsplatta Stålstommar18030747
BelagplatteShims plateShimsplåt 280 x 42 x 618109598
MutterNutMutter M6M M20 FZB 8.822118369

Securing cargo. We invented the concept.

81
03

02
 D

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Friction Attachment Page 2 

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

43 122

71
15

14
1

25
0

19
0

180° ==> ±3 mm
Låsbrickor roterbara för optimal montering/

Lock washers rotatable for optimal mounting

Urtagen vänds åt samma håll/
The grooves are turned in the same direction

Åtdrages efter behov/
Tightened as needed

Vikt / Weight: 11,4 kg

1

3

4

5

2

6

7

8

9

Gänglåsning medelstark /
Thread locking medium strong

23

29
2

296



Securing cargo. We invented the concept.

81
03

02
 D

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

 Page 3 

1472 (Max)

736

704 (Min)

352

1506 (Max)

774

762 (Min)

381

External Mounting
Friction Attachment

Internal Mounting
Friction Attachment

1248 (Max)

704 (Min)

1188 (Max)

780 (Min)

External Mounting
Friction Attachment

Internal Mounting
Friction Attachment

810300

810300

810305

810305

352

624

594

390


